Excel Practicals Solution
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Q1.

Prepare a worksheet containing the Name and marks in 3 subjects in columns A, B, C and D respectively from columns 1 to column 31, the first row contains the headings and the remaining rows contain data. Use your own data.

Carry out the following operations on this worksheet.

1. Save the worksheet under your name followed by your roll no. , question no.  e.g. MONA1231

2. Obtain the total marks of each student in column E.

3. Construct the 3D Pie diagram for the totals.

4. Construct a line chart for subject 1 and subject 3.

4. Display only those students details who have total marks exceeding 180.

5. Display only those students details whose name begins with ‘R’.

Saving the worksheet:

1. After typing in the data in columns A,B,C and D click on the office button and select ‘Save as’.

2. Select Excel workbook, type the name as ‘MONA1231’(i.e. name and roll number, then 1 for the question no.) and click on save.

Total Marks:

1. Select E1 and type the heading ‘Total’.

2. Select E2 and type   =SUM(B2:D2).

3. Select E2 and Drag the Fill Handle to E31.

3-D Pie Diagram:

1. Select the entire column of Total (E2:E31)
2.  From the Insert menu, select option Pie under charts group, sub-option 3-D pie.

3. 3-D pie diagram appears.

4. Under layout menu of chart tools, select chart title, sub-option above chart and type the title “TOTAL”.

Line Chart:

1. Select B2: B31 and D2:D31.

2. Under the Insert menu, select option Line under charts group, sub-option 2-D line.

3. 2-D line diagram appears.

4. Under layout menu of chart tools, select chart title, sub-option above chart and type the title “Line Chart”.

MARKS EXCEEDING 180:

1. Select the entire data (A1:D31)
2. In the Data menu, select Filter under Sort and Filter group.

3. Drop down arrows appears next to each column title.

4. Select the dropdown arrow next to the total column.

5. Under the number filters, select greater than.

6. Custom Auto Filter window appears, type 180 and press OK.

Names Begins with R:

1.  Select the entire data (A1:D31)
2. Under Data menu, select Filter under Sort and Filter group.

3. Dropdown arrow appears next to each column title.

4. Select the dropdown arrow next to the name column.

5. Under the text filters, select ‘begins with’.

6. Custom Auto Filter window appears, type R and press OK.

Q 2.  

Prepare a worksheet containing the Name and taxable income in columns A and B respectively from rows 1 to 26, the first row contains the headings and the remaining rows contain the data. Use your own data.

Carry out the following operations on this worksheet.

1. Save the worksheet under your name followed by your roll no. , question no.  e.g. MONA1232

2. Obtain the income tax in column C using the following income tax slabs.

    Taxable Income(Rs)

Rate

     First 1,00,000


Nil

     Next 60,000


10%

     Next 70,000


20%

     Excess



30%

3. Obtain the surcharge in column D, where surcharge is 3% of the income tax for those whose taxable income is above Rs 5,00,000

4. Obtain the total tax in column E, as the sum of income tax and surcharge.

Solution:

Saving the worksheet:

1. After typing in the data in columns A and B, click on the office button and select ‘Save as’.

2. Select Excel workbook, type the name as ‘MONA1232’(i.e. name and roll number, then 2 for the question no.) and click on save.

Income tax

1. Select C1 and type the heading ‘INCOME TAX’.

2. Select C2 and type

=IF(B2<=100000,0,IF(B2<=160000,(B2-100000)*10%,IF(B2<=230000,

60000*10%+(B2-160000)*20%,60000*10%+70000*20%+(B2-230000)*30%)))

      and press enter.

3. Select C2 and drag the fill handle to C26

Surcharge 
1. Select D1 and type the heading ‘SURCHARGE’

2. Select D2 and type =IF(B2>500000,C2*3%,0) and press enter.

3. Select D2 and drag the fill handle to D26

Total Tax 

1. Select E1 and type the heading ‘TOTAL TAX’

2. Select E2 and type =C2+D2 (or =SUM(C2:D2) and press enter.

3. Select E2 and drag the fill handle to E26

Q 3. 

Prepare a worksheet containing the Name, Join Date, Department and Salary in Columns A, B, C, and D respectively from rows 1 to 31 the first row contains the headings and the remaining rows contain data. Use your own data.

Carry out the following operations on this worksheet.

1. Save the worksheet under your name followed by your roll no. , question no.  e.g. MONA1233

2.  Prepare a Pivot table report containing Join Date in the row area and Sum of Salary and Minimum Salary in the data area.

3. Prepare another Pivot table on the same data taking Department in the row area and Average Salary and Maximum Salary in the data area.

Solution:

Saving the worksheet:

1. After typing in the data in columns A,B,C and D click on the office button and select ‘Save as’.

2. Select Excel workbook, type the name as ‘MONA1233’(i.e. name and roll number, then 3 for the question no.) and click on save.

Pivot Table 1 
1. Select the entire data(A1:D31)
2. From the Insert Menu click on Pivot table and then select sub-option Pivot table.

3. Accept the selected range A1:D31

4. Choose ‘existing worksheet’ and enter the location as A33 and click on ok.

5. Drag the Department to the row area.

6. Drag the ‘Salary’ to value area. It is displayed as ‘Sum of salary’. Click on it and select value field settings.

7. Select the type of calculation as ‘Min’ and click on ‘ok’ to obtain Min of Salary.

8. Again Drag the ‘Salary’ to value area. It is displayed as ‘Sum of salary’.

9. On the left the completed Pivot table is displayed.

Pivot Table 2
1. Select the entire data(A1:D31)

2. From the Insert Menu click on Pivot table and then select sub-option Pivot table.

3. Accept the selected range A1:D31

4. Choose ‘existing worksheet’ and enter the location as A70 and click on ok.

5. Drag the Join Date to the row area.

6. Drag the ‘Salary’ to value area. It is displayed as ‘Sum of salary’. Click on it and select value field settings.

7. Select the type of calculation as ‘Average’ and click on ‘ok’ to obtain Average of Salary.

8. Again Drag the ‘Salary’ to value area. It is displayed as ‘Sum of salary’. Click on it and select value field settings.

9. Select the type of calculation as ‘Max’ and click on ‘ok’ to obtain Max of salary.

10. On the left the completed Pivot table is displayed.

Q 4.

Prepare a worksheet containing the Name, Age, Department and Bonus amount in Column A, B, C and D respectively from rows 1 to 26, the first row contains headings and the remaining rows contain data. Use your own data. 

Carry out the following operations on this worksheet.

1. Save the worksheet under your name followed by your roll no. , question no. e.g. MONA1234

2. Sort the data in the ascending order of Department.

3. Obtain subtotals of Bonus  for each department.

4. Explain the use of 1 and 2 row level symbol

5. Remove these subtotals and return the worksheet to its previous state.

Solution:

Saving the worksheet:

1. After typing in the data in columns A,B,C and D click on the office button and select ‘Save as’.

2. Select Excel workbook, type the name as ‘MONA1234’(i.e. name and roll number, then 4 for the question no.) and click on save.

Sorting

1. Select the entire data(A1:D26)
2. From the Data Menu select Sort. Sort window is displayed.
3. In Sort by select ‘Department’ and select order as A to Z(i.e. ascending) and click on ok.

Subtotals
1. Select the entire data(A1:D26)
2. From the Data menu select subtotal. Subtotal window is displayed.
3. Under ‘At each change in’ select Department.
4. Under ‘Use function’ select Sum.
5. Under ‘Add subtotal to’ select Bonus. Subtotals are displayed in the worksheet.

1 and 2 row level

The 1 and 2 row level is used to obtain the level of the subtotal. Hence 1 row level shows only the Grand total. 2 row level shows only the subtotals along with the Grand total. These can be easily selected as required as they are displayed on the left of the worksheet.

Removing subtotals
From the data menu select Subtotal and then select ‘Remove all’ to remove the subtotals.

Q 5.

Prepare a worksheet containing the Name of the salesman and sales for the months of January, February and March in columns A, B, C and D respectively from rows 1 to 26, the first row contains headings and the remaining rows contain data. Use your own data ensuring that the sales entered in a month are minimum 100000 and maximum 300000. 

Carry out the following operations on this worksheet.

1. Enter the following Bonus Table in columns H and I.


SALES

BONUS


300000

2000


400000

3000


500000

4000


600000

5000


700000

6000


800000

7000

2. Save the worksheet under your name followed by your roll no. , question no.  e.g. MONA1235

3. Obtain the total sales of each salesman in the first quarter in column E.

4. Using VLOOKUP function obtain the bonus amounts to be given to each salesman in column F.(Note if the total sales are say 319000, which is above 300000 and below 400000 then the Bonus amount will be 2000 )

 Solution:

Saving the worksheet:

1. After typing in the data in columns A,B,C,D and Columns H,I click on the office button and select ‘Save as’.

2. Select Excel workbook, type the name as ‘MONA1235’(i.e. name and roll number, then 5 for the question no.) and click on save.

Total Sales: 
1. Select E1 and type the heading ‘Total Sales’.

2. Select E2 and type =SUM(B2:D2) and press enter.
3. Select E2 and drag the fill handle to E26.

Bonus:
1. Select F1 and type the heading ‘Bonus’.

2. Select F2 and type =VLOOKUP(E2,$H$2:$I$7,2) and press enter.
3. Select F2 and drag the fill handle to F26.
SUMIF()
It is used to add all the values in a range of cells that satisfy a given condition. If only one range is provided, it will add the values in that range, if two ranges are provided, then it will add the corresponding values in the second range. The first range values are used to check the given condition. 
     =SUMIF(C2:C5,”<50”)

     =SUMIF(C2:C5,”<50”,D2:D5)

COUNTIF()

It is used to count the number of cells in a range that satisfy a given condition.

 =COUNTIF(B2:B5,”>80”)

ROUNDDOWN(number, no. of digits)

Rounds the number down towards zero.

=ROUNDDOWN(5.9,0)    
gives 5

=ROUNDDOWN(43.628,2) 
gives 43.62
=ROUNDDOWN(46,-1)       
gives 40

ROUNDUP(number, no. of digits)

Rounds the number up away from zero.

=ROUNDUP(5.1,0)    
gives 6

=ROUNDUP(43.621,2) 
gives 43.63

=ROUNDUP(46,-1)       
gives 50

FLOOR(number,significance)

Rounds a number down toward zero to the nearest multiple of the level of significance 

=FLOOR(8.5,3)  gives 6

CEILING(number,significance)

Rounds a number up away from zero to the nearest multiple of the level of significance 

=CEILING(8.5,3)  gives 9

PMT(): Calculates the payment for a loan based on constant payments and a constant interest rate. Syntax
PMT(rate,nper,pv,fv,type)

rate
:
rate of interest on a loan
nper
: 
total number of payments

pv
:
present value, i.e. the total amount that a series of future payments is worth  



now.

fv
:
future value or cash balance after last payment is done. If omitted it is

 assumed to be zero.
type
:
0 or omitted mean payments are made at end of the period,1 indicates that 



payments are made at the beginning of the period.
=PMT(8%/12,10,10000,0,1) gives  -1,030.16 (-ve as payment)
IPMT():Returns the interest payment for a given period for an investment based on periodic, constant payments and a constant interest rate. Syntax
IPMT(rate,per,nper,pv,fv,type)

=IPMT(10%,2,3,8000) gives -558.31 as the interest paid(-ve) in the second year on a 3 year loan amount of Rs 8000 at 10% interest.

PPMT():Returns the payment on the Principal amount for a given period for an investment based on periodic, constant payments and a constant interest rate. Syntax
PPMT(rate,per,nper,pv,fv,type)

=PPMT(10%,2,3,8000) gives -2658.61 as the payment on the Principal(-ve) in the second year on a 3 year loan amount of Rs 8000 at 10% interest.

NPER():Returns the number of periods for an investment based on periodic, constant payments and a constant interest rate. Syntax
NPER(rate, pmt, pv, fv, type)

e.g.  =NPER(12%/12,-100,-1000,10000,1) gives 59.6738657 ~ 60 installment periods.
RATE(): Returns the interest rate per period of an annuity. The rate is calculated starting from the guess and then using the iteration method. 
RATE(nper,pmt,pv,fv,type,guess)

It results in an error, if it does not converge after 20 iterations. In such a case try a different value of guess. If the guess is omitted, it is assumed to be .10 i.e. 10%.

=RATE(24,-500,10000)*12 
gives 0.18157 
i.e. 18.16%

VLOOKUP(Search value, range, col no., Logical)

Logical: True or omitted search for an approximate match. If exact value is not there then it will return the largest value less than the search value.
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